[bookmark: graphic09]Period 3: What are the locomotives arranged? 
In total there are 6 times. Each era is characterized by its own locomotives that you can unlock as and measures in the search tree.
The third time gives you access to 6 different diesel locomotives:
[bookmark: _GoBack]
Obtaining the hook of the time requires 3 70 research points.
	[bookmark: table08]Odin 28 PR

	Traction PR 18

	Speed ​​14 + 7 = 21 PR

	Total 67 PR

	Dionysos 23 PR

	Traction PR 4

	Speed ​​15 PR

	Reliability 6 PR

	Total 48 PR

	Herakles 33 PR

	A path
	path B

	Speed ​​10 + 4 = 14 PR
	Traction 15 + 13 = 28 PR

	Total 47 PR
	Total 61 PR

	A path
	Path B (Bi)
	path C

	Ajax 40 PR
	Prometheus 39 PR

	Acceleration 9 + 9 = 18 PR
	Traction PR 16
	Reliability 6 + 4 = 10 PR

	Speed ​​3 + 4 = 7 PR
	7 Reliability PR
	Speed ​​8 PR

	Total 65 PR
	Total 62 PR
	Total 57 PR

	Full Ajax 18 + 10 + 65 = 93 PR
	
	

	Osiris 40 PR
	Morpheus 42 PR

	Reliability 9 + 3 = 12 PR
	Traction PR 19

	Speed ​​11 PR
	Speed ​​8 PR

	7 Reliability PR
	Speed ​​11 + 8 = 19 PR

	Total A + B (bis) 70 PR
	Total C 88 PR

	Hook 70 PR

	Total Hook + A + C =
70 + 297 + 88 = 455 PR
	Total Hook + B + B (twice) =
70 + 308 + 88 = 466 PR
	Total hook + B + C + A
(A or full) = 70 + 239 + 88
+ 135 (163) = 532 PR (PR 560)


Note :
It is for everyone to choose their own path. This is not an indication but, after many talks on fofo or chat, it should consider making the loco V priority with the minimum required or full options and options to fall back towards the Morpheus soon as you finished with V.
The traveler will earn you lots of money as long as you have already opened your network consequently. Otherwise, make Morpheus, see the time left and choose between V or path Bis.
Good game to all.

